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Exercise 3.

Chips are produced by two machines, and each chip has a probabiity of being bad. The probability
a chip is made from machine 1 is 0.4, and the probability that a chip is good is 0.7. Also, suppose
we know that the probability of a chip being either bad or made from machine 1 is 0.7.

(a) What is the probability a chip is made from machine 2.

(b) What is the probability a chip is made from machine 1 and is bad?

A= Std/u@ wnade on machire | f
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We can turn this word problem into math. Define A as the event that the chip is made from

machine 1, and define B as the event that the chip is Bad. Then P(A) = 0.4, P(B¢) = 0.7, and
P(AUB) = 0.7. The questions are then to determine
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Exercise 6.
Events A and B are defined on a sample space S. if P(A) = 0.6, P(B) = 0.5, and P(AUB¢) = 0.9,
what is P(A°U B)?
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